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1. Purpose



Il. Purpose

» Coffee Machine System2| System Integration
Testing =M

« SRS2| ALY 2l Ml =2tEl Test Identification

» System Test Plan0]| 2} 22| Input®| Output
HAE

. 73 Bl
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1 2. Test Identification

Identifier - Feature - Valid/: Invalid-value -
CMSSTC.000. | I ME-E|& | ALAte] S5, 25 MH0| XHE. 2t Ljof Mot o]
E. E X=X HAE- 8jjoF EICt- |5 22, 7tE, HIO|-

=20 XME ME T2 22 Al ZH- 0|%x
SX| B AESOF BHTL WETh £FSHALE AT 7}
27h MAEIK] ¥US Al FH0| O|HXA L&
B AEsiop BICL B 25 Al Bash B stH
o ZHELK| HAE BT W 2F Al ALRE
50| SHEA HSOHEX| HAE S{OF Bt T
= 27 A BHE Y27h B B MR

CMS.STC.001 . ME 2= HA | 9= . 7410 7H; 2. 20| K™ ZH LMD 2
E. HFEA- O|R K| =X] HAE-5l{OF SICL- T{&E EF- Al

SHEE SEor oo &9 HEE=A] HAE

sick ® B T NEIE e ToE 4 9
|

=X HAEBICE. .




1 2. Test Identification

CMS.STC.002 -

4 HAE.

a7t AHE %o 23 AIZHS 2260 2tz
A ORI K| Bl AE 8HOF BHCt B 0| BT
Al HA7b O|RXIK| REE HAE BTt 2 AT
Al BRIEL HEoh D0 HES| MEEEX| A
=

CMS.STC.003 -

o2 BIAE .

FO|- SHtZA- O|R X1 m-of-
- BICE- O AlZHO| S
Al B|lAE. SHCh SR Of

—

UA=A| HAE- BICE.

CMS.STC.004 -

HEl H2E.

MOl ARE Al ME, Ol 2 HEIh TrUo|
SUt2A MIYEEA| BAE BT HRUO| CHA 7
RE Al TIE, Ol BA Yeot IHYZLEH SHt2
A QOIQER| HAE L SH S3 S0 MYUO|
AHE Al 550 5

OIB}C}. .

CMS.STC.005 -

I 712
HAE.

KA

Ol 7t2- M- 280| eHtEA A=K B2
£ 8ot H|- 7427} Hob U o Hm- A
50| O|YRIX| YEES HAE.




3. Test Items & Results



IS. Test Items & Results

Identifier - Tested- Input - Output-
Features - Specification - specification -
CMS.STC.000.000.| AHE- FZ&- Al - | waterSensor.txt(: "Coffee-Making.” - CMS.STC.000.001.| &2 ZE- A|.

A7 A=

water-=-1000) -
powderSensor.txt( «
powder-=-10) :
beanSensor.txt( -
bean-=-100) -
Button-:-0.
Concentrate-:-100 -

Temperature-:-1.

(10%) .
"Coffee-Making- -
finished" -
waterSensor.txt( :
water-=-900) .
powderSensor.txt( -
powder-=-0) -
beanSensor.txt( :
bean-=-100) -

a

St AT M=

a

waterSensor.txt( «
water-=-1000) :
powderSensor.txt( :
powder:=-10)
beanSensor.txt(
bean-=-100) -
Button:1.
Concentrate-:-300 .

Temperature-:-0 -

"Boiling."(10ZX£)
"Coffee-Making.” -
(10%) .
"Coffee-Making: -
finished"
waterSensor.txt( :
water-=-700) -
powderSensor.txt( -
powder-=-0)
beanSensor.txt( «

bean-=-100) -

a




IS. Test Items & Results

CMS.STC.000.002 .| ¥5 &2 . waterSensor.txt( : "Grinding.”"(5Z)
water-=-1000) : “Coffee-Making.” -
powderSensor.txt( : (10=X) -
powder-=-0) - "Coffee-Making- :
beanSensor.txt( - finished" -
bean-=-100) : :

. waterSensor.txt( :
Button-:-0. water-=-900) .
Concentrate-:-100 .« powderSensor.txt( -
Temperature-:-1. powder-=-0) :
beanSensor.txt( «
bean-=-90) .
(CMs.STC.000.003 | T§7|- AbEf Of | CH7|- A4Ef- OF - Al - CH7|- AER- OFE- Al - |.
o Zs ol | AW FZ g7h=el. | AL F3 £+

-

ol
|_47

CMS.STC.000.004. B EF Al waterSensor.txt( : “No-water” :
L) H = - water =-0) - A2 BH S
powderSensor.txt( -
powder-=-10) -
beanSensor.txt(:
bean-=-100) -
Button-:-1.
Concentrate-:-100 .
Temperature-:-1.
CMS.STC.000.005 .| 5 £ZF- Al | waterSensortxt( "NoCoffee-beans” :

Ao M=

water-=-1000) -
powderSensor.txt( :
powder-=-0):
beanSensor.txt(
bean-=-0) .
Button-:-1.
Concentrate-:-100 .

Temperature-:-1.

22| ZH 3.




IS. Test Items & Results

water-=-0) .
powderSensor.txt( :
powder-=-0) :
beanSensor.txt( -
bean-=-0) -
Button:-4 .
Water-1000 .
Powder-10 .
Bean-100 .

CMS.STC.000.006 .| 100,- 200,- 300 | Button-:-1 - "Coffee-making-is -
0]2|e]- &XZ:| Concentrate:-240- failed” .
43, Temperature:-0.

CMS.STC.000.007 .| H(0),- 2(1)- O] + | Button:-1: "Coffee-making-is- :
Q|9 2&- 4 | Concentrate:-100 - failed” .
. Temperature: 3.

CMS.STC.001.000.| M& EF. waterSensor.txt( "Charging”

finished!!” .
waterSensor.txt( -
water-=-1000) «

powderSensor.txt( :

powder-=-10) -
beanSensor.txt( -
bean-=-100) -

[CMs.STC.001.001 .

Stz 0|4t9| .

waterSensor.txt(
water-=-500) -
powderSensor.txt( :
powder-=-10) -
beanSensor.txt( :
bean:=:0) -

Button: 4.
Water:-500.
Powder: 0.

Bean:- 1000 -

"Charging"” -
finished!!”
waterSensor.txt( -«
water-=-1000) -
powderSensor.txt( :
powder-=-10) -
beanSensor.txt(:
bean-=-1000) -

CMS.STC.001.002 »

Sz ol4tel.

waterSensor.txt( :
water-=-1000) -
powderSensor.txt(
powder-=-10) -
beanSensor.txt(
bean-=-100) -
Button: 4.
Water::100.
Bean:-0.
Powder:-10.

"charging..” :
"warning!!-water-is: :
overflow." :
"warning!!- powder:
is

overflow.” .

+



13. Test Items & Results

CMS.STC.003.000 -

A B
ol

reserveData.txt (-
H[OlE- Si3)|:
Button:-2 -
Time-:-11201619 .
Concentrate-:-100 .

Temperature-:-0.

reserveData.txt -
(Time-=-11201619 -
Concentrate-=-100 -
Temperature-=-0) .

a

o x5 ol

Mz 25 27 =el.

CMS.STC.001.003 .| A = =0l . waterSensor.txt( - water:-900ml .
water-=-900) - powder:-0g -
powderSeonsor.txt( - bean:-100g -
powder-=-0) :
beanSensor.txt( -
bean-=-100) :

Button-:-5 .
CMS.STC.001.004 .| CZ|- AEf- Of | CHZ| &E{- OFEL- A . CHZ|- AFEH- OFE- A -

WE 25 271 &

o,

CMS.STC.003.001 +| 4O K| =- - reserveData.txt-( - HEE- Y33
e ol | HolE g2 2) a0z HE.
223, : :
Button:-2 - reserveData.txt .
Time:- 13201619 . (Time-=-13201619 :
Concentrate: 300 - Concentrate-=-300 -
Temperature:-0. Temperature-=-0) .
CMS.STC.003.002 .| B 0| <F. O] 722 . O| 2%,

4

Button:-3-

CMS.STC.002.000.| H . waterSensor.txt( - "Cleaning.”(10X) -
water-=-1000) : “Cleaning-is- -
. finished”
Button:-3 . .
waterSensor.txt( «
water-=-500) -
CMS.STC.002.001 .| & BE Al - waterSensor.txt( - "No-water” .
HAa. water-=-0)




13. Test Items & Results

CMS.STC.003.003 -

Ol 2=l AlZHOY|-
A= 7). .
i E

reserveData.txt( «
time-=-11201701 .
concentrate-=-100 -
temperature-=-0) .

currentlime =-11201701 -

a

"Coffee-Making"” -
"Coffee-Making-Fini :
shed.!".
reserveData.txt( +
MR- oo Ko

- A7) -

CMS.STC.003.004 .| O|SF E[AE- . | reserveData.txt( - “Number-:-1 -
2ol Number-:-1 - time-:-11201341 -
time-:-11201341 - concentrate-:-100 -
concentrate:-100 - temperature-:-0" .
temperature-:-0" . .
Number-:-2 . “Number-:-2 .
time-:-11201345 . time:::11201345 .
concentrate-:-300 - concentrate-:-300 -
temperature:-1) : temperature-::1" .
Button:'6 -
CMS.STC.004.000. HH BE. Button-:-0. D20 FHY F=
CMS.STC.005.000 .| - 7t . 2 7|50 ZEA- 7 | & 7|S00 22k
HA - . A3
CMS.STC.005.001 .| 74I|- 7}&- . L] 7tF- HOotRU= &Ef + | "Warning! -
HUAZS Al Button:-1. powder-is-remain..” -
HO- M= Concentrate-:-100 . A2 A 2| .

Temperature-:1.

Pass : 197
Fail : 4



4. Evaluation



Hvaluation

1000
cle: command not found
charging. ..

arning!! bean is overflow
sh: clg:

command not found
renewMaterial finished!!

EEEEEEEEEEEEEEEEENE
==TEAM3 Coffee Machine==
1) Make
2) Regerve
3)Cleaning
[ |

4)Recharge material

5) Show material
6) Show Reserve List
sh: cls: command not found
water

powder :
sh: cls:

bean

O)Powef

command not found
1000 g

el

HAX|= &2 =552
HAE SHoAM o2l

sHolL}
SELE

ICMS.STC.OO'I.OO'I Stz O 49| waterSensor.txt( “Charging”
RS water-=-500) renewMaterial
powderSensor.txt( finished!!”
powder-=-10)
beanSensor.txt( waterSensor.txt(
bean:=-0) water-=-1000)
powderSensor.txt(
Button: 4 powder-=-10)
Water:-500 beanSensor.txt(
Powder:-0 bean-=-1000)
Bean:-1000
Mz B5 A, |F240] 10007t K| SHE|=
N
BAL A,
ME X1 F



A 4. Evaluation

AENEEEEEEEEEEEEEEEEE CMS.STC.003.001

O M= reserveData.txt-( HEE- Y33
==TEAM3_Coffee Machine== ARE 0. | CloIE 8l3) 2) Az HE.
A=
Button:-2 reserveData.txt
Time:-13201619 (Time-=-13201619
. . . . . . . . . . . . . . . . . . . Concentrate:-300 Concentrate:-=-300
1me - 13201619 Temperature: 0 Temperature-=-0)
oncentrate @ 300 CMS.STC.003.002 .| KA 02} 0|23 o| 23
emperature : 0
Number :@ 6 ° °
time : 13201619 o|O] x|k AJZEQ! 13201619(134 20¥? 16E
concentrate @ 300 190EI?) of|ek Al, L2 XE

temperature @ O

ALEXE 2XHE §F dl2iXE] F=0 =Xl

o oef EES 1o (SRS 2FAE S
=T F2).



4. Evaluation

AEEEEEEEEEEEEEEEEEEEnE
N —=TEAM3 Coffee Machine==

B Cleaning. ..

|

|
AEEEEEEEEEEEEEEEEEEEnE

sh: cls: command not found
AEEEEEEEEEEEEEEEEEEEnE
N ==TEAM3 Coffee Machine==

B cleaning is finished. N
| |
| |
AEEEEEEEEEEEEEEEEEEEnE

A7 &

CMS.STC.005.000 .| HI|- 7}& Ha- 7150 =EA- +

oot AL IR HAHE £

SRSE A S ML= BHEsHX| X gt

o|2lofl A+EX &I 40l +H kICtE ™

FIoof Wy = JlS

(0] §
=

AL
T




v, - :
A 4. Evaluation

T AN =EF5IX 2 AFE S H|CHZ 0|5l

ot £ 2=0| =KL}

i X EE olef Azl o2 SE S 7
= 0| O] X Ct.

-
J
——
4r o

Eg) Conio.h L O0| includek|X| 2 =Lt 2& E=0| MfX|= £ &.



LQ&A



